TF 0L ARk
No

1 (BREKLF T 4T Jr)
) EBE 2
(TFOVIERTHT )
5 BE EE
(BRELATHILT)
. B
(BREKLF T 4T Jr)

REE BHERHE

HERRB

[ MQF57 |

4h

1 3 — 212
1 - 7
7 - 11
FEE [EGXE =ZzH =
CEX s 1 =25
11 - 9 ‘ )
(BRERLA T+ ILTIr) (ZF Sy ERTHTI—)
11 — 9
[ MQF59 |
5 3 — O] 6
11 — 4
x 22 | T 2| rm mw
11 - 8
(LB EBk57") B (LB EBR57)
RIS
[ NSF61 |
1 4 - 0O 3
1 - 2
mE mER| O | mm %@
11 - 5
GRERLA T4 LT : BEBRLA T A ILT)
R
[ MF63 |
1 4 - A 8
1 - 6
gl mxnl ' — 12 km B
11 - 8
11 - 3
(BREKLA 74 ILTIr) 11 : 6 (BREK LA 74T Ir)

No
K &% 5
3 (DR EERYTT)
0 rE EmH 6
(DRREERYTT)
BEE Bx ;
1 (DR EEKYTT)
3 REE  [&H1E 8
) (BER LA 74 LT Ir)
| MQF58 |
3 3 — 2|4
9 - 11
e - 11
-‘*E b & Vs
BEH £3& 11 _ 9 HH X%
(BREkLA 7+ ILT) 11 N 6 (BREK LA 7 4 LT Jr)
11 - 7
| MQF60 |
1 1 - 3] 8
5 - 11
11 - 9
it RE =y
i EX s _ 14| ®H b1
(LELEERYF7) 5 - 1 (RERLA T4 LT Ir)
| MSF62 |
o 1 - 418
4 - 11
- 7 - 11
= BE =]
K 2% 11 - 8 REH BT
6 - 11
5 - 11

(DR EIRITT )

(BB LA T+ LT Jr)




